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1. For the circuit shown below, the switch &vin position 1 for a long time and it is
Thrown to Position 2 at reference tim@, then find \& ().
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(A) 40V (B) 60 V (© 20V (D) OV
2. Assertion (A): The voltage across an inductor cannot changentastaously.

Reason (R):The charge in a capacitive system can increade@ease in zero time if an
infinite current is flowing through the capacitoitmin a zero time.

A) BothA & R are correct, bur is not correct explanation fé.
B) BothA & R are correct, anR is the correct explanation féx.
C) BothA & R are incorrect.

D) A is incorrect buR is correct.

3. For the circuit shown below, the switch S waposition 1 for a long time and it is
Thrown to Position 2 at reference time t=0, thied voltage across resistor just after switching
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4. LetT; be the time constant of a circuit shown in fig @)dT, be the time constant of the
circuit shown in fig (b), theft'; : T2 is
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(A) 1.1 (B)2 (C)2:1 (D) 4: 1

5. The switch ‘'S ‘was in position 1 for a long tinand is thrown to position 2 to at t=0 time
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(A) 1& 2 are correct (B) 2 & 3 are correct
(C) 3 &1 are correct (D) 1 & 2 and 3 are correct

6. Assertion (A): The current through a capacitor cannot changarnieseously.

Reason (R):The charge in a capacitive system can increade@ease in zero time for
finite current.

A) BothA & R are correct, bur is not correct explanation fé.
B) BothA & R are correct, anR is the correct explanation fé.
C) BothA & R are incorrect.

D) A is incorrect buR is correct.



7. For the following circuit, calculate the timenstant of the circuit.
2H
K D Zj (A) 2 sec

w (B) 1 sec

i )(sec
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20 <—> (D) 6 sec

8. for the following circuit, if the initial currd@rthrough an inductor is 1A. Find the current thgou
inductor at t=o, if the switch is closed at t=0.
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(A) 2 A
T= 20 (B) 1A
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9. For the following circuit, calculate the timenstant of the circuit.

(A) 2 sec

1F (97 (B) 1 sec
T i (C) 4 sec

10 <T> (D) 6 sec




10. Inthe foIIowT;im&itle, G=2F and voltage across 8 10V and acrossQs 10V. Switch is
t=

closed=0. Then Vcl (0, V¢, (09?

(A) 10V,20V (B)20V, 10V (C)15V, 15{D) 10V, 10V

Key:
1.D
2.D
3B
4.D
5B
6.C
7.B
8.A
9.A

10.D



